
1. Convert the following decimals to percentages:

(i)  0.34
(ii)  0.73
(iii)  0.27

(iv) 0.04
(v)  0.645

2. Convert the following fractions to decimals:

(i)  4/5

(ii)  3/4

(iii)  7/8

(iv)  4/10
(v)  7/12

3. Put these numbers in order. (The smallest first)

0.5     0.63    0.09    0.613   0.092   1.05   1.4

4. If 67% of people pass a Maths exam, what percentage fail?

5. Without a calculator find the value of:

(i)   10% of £70
(ii)  10% of £75

(iii) 20% of £40
(iv)  5% of £60


(v)  30% of £90
(vi)  15% of £50

6. Estimate the answers to the following and give your reason: (No calculators)

(i)     27% of £80
(ii)  47% of £123

(iii)   12% of £79

7. Put these numbers in order. (Smallest first)

3/5
0.062
5%
2/3
4/7

8. Cancel the following fractions to their simplest form:

(i)    12/30
(ii)  15/35
(iii)  36/48

(iv)  16/48

9. Wendy scored the following marks in the recent examinations:

English  18 out of 40
  Maths  26 out of 43 Science  16 out of 22
  Art       48 out of 61

Convert these marks to percentages so that Wendy can see which exams she did best in.

10. Find the number of marks which Matthew would have received if he was awarded:

(i)   85% on a paper marked out of 100

(ii)  60% on a paper marked out of 200

(iii) 30% on a paper marked out of 120

11. Find the values of :

(i)  10% of £1

(ii)  20% of £300

(iii)  75% of 240kg     (iv) 30% of 80 marks


(v)  6% of 45metres
(vi)  5% of 15cm

12. A man spends 12% of his income on rent and 58% on household expenses.  What percentage remains?

13. Round the following numbers to 1dp:

(i)  4.56
(ii)  6.236
(iii)  23.6253

(iv)  154.98

14. Round the following numbers to 2dp:

(i)  7.3445
(ii)  51.3555
(iii)  82.299

(iv)  0.25446

15. Round 16.254753 to:

 (i)  1dp

(ii) 2dp

(iii) 3dp

16. Find the answer to the following, simplifying the answer where possible.

(i)  2/3 + 1/5
(ii)  3/5 + 2/6
(iii)  4/6 - ¼

(iv)  5/8 - 1/3

17. What is 1/3 + 1/4 + 1/5?  Show your working.

18. In a school of 500 pupils 11% are prefects.  How many prefects are there?

19. Write down the next 5 equivalent fractions for each of the following:

(i)  2/5 = 
(ii)  3/4 = 
(iii)  1/3 =

20. In a school of  500 pupils, 68% have had measles.  How many is this?  How many have not had measles?

21. Would you prefer to have 75% of £420 or 35% of £880?  Show your working.

